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(2003. = E=HEL)

dew | HBHSIR | 10aE | MAr A+
| (ha) | =(ke) (€) THHHEE & | A Aved
1965 | 152,426 | 1,966 | 2,996,669 | 100 100
1970 | 126,874 | 1,684 | 2,136,093 | 83 71
1980 | 55019 | 2,005 | 1,103,090 | 36 37
1990 | 18,969 | 2,276 | 431,689 | 12 14
1995 | 14,908 | 2,045 | 304,806 | 10 10
2000 | 16,149 | 2,136 | 344,881 11 12
2002 | 14,727 | 2,150 | 316,703 | 10 10
2003 | 14,161 | 1,898 | 268,733 9 9
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N8 D20 HEHEAE &

(2003. sEISHE L)
=\ /0

& = 14,161 1,898 268,733 100

ZI| (M=, o1& L&) 3,475 11 ST 70,706 24.5
4 & 354 1,795 6,354 2.5

S = 821 1,788 14,679 5.8

S (A Z8) 1,683 1,729 31,457 11.9
&= 1,971 1,833 36,128 13.9

Mg (Z= ZL8) 2,167 2 2lote 6205 8.6
2= (U4 Z8) 1,227 1,330 18,366 8.7
Je (R4, S4ELE) 1. Gk i 22 29891 1'245
Nl == 92 2,436 2,241 0.6
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=L 220 Mak =0 2L S&EE

Z=0§ 0+

(& /kg)
1965 | 2,997 261 8.7 507 3 = =
1970 | 2,136 258 12.1 5.87 258 173 85
1975| 1,953 | 559 28.6 19.96 | 559 | 491 68
1980 | 1,103 315 28.5 44 .36 315 | 302 13
1985 | 787 247 31.4 60.00 247 | 247 r
1990 | 432 147 33.9 102.85 | 147 | 147 | -
1995 | 305 23 7.5 137.00 1387 23 114
2000 | 345 10 2.9 172.75 102 10 92
2000 | 345 10 2.9 7 2| 02 10 92
% X2 12001, SYSEHFB2A, SMAFMAOZA SAI=T 11/110




Lcltiet 10 2L =R

(M/T)
e S LA AME | XS =(%) =& =L et
1994 12,390 70.0 3 il 17,961
1995 12,708 60.5 8,287 20,995
1996 17,527 68.4 8,087 25,614
1997 15,253 62.2 9,273 24,526
1998 10,188 41.2 14,560 24,748
1999 14,043 56.8 13,681 24,724
2000 15,317 48.5 16,275 31,592
2ol MEARTS 19940 17,961M/TOll HIGHG 20008 0il= 2 CH
85%Jt ZIt8t 31,317M/T22 IE Zotste FAMO0I 22 ISES

19944 9| 70%0il Hlotd E Xt ZOtAE A 20008 0= 48.5%01 = 1.
12/110



D0 &EZ2 =
2 = 1998 1999 2000 2001
~o A0026(E) | 14,559 | 13,681 | 16,275 | 13,160
| 2uERe) | 7,827 7,483 8,691 6,125
S 29 %t_(_) 400 805 425 i
SH(HS) | 167 326 146 24
y T 2(E) | 14,959 | 14,486 | 16,700 | 13,337
SH(A$) | 7,994 7,809 8,831 6,149
¥ JIEt= - 22, 22T, HIEY. 2AEUIAIOH Xt& : 2002, sS4t S A
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N g | A | 23S =
a (9) mg) (%)
D70 | 2.9 | 75~183 | 1.8~3.9 0.37
il = | 1.9 44 0.002, 0.003
o Tj 0.9 31 0.001, 0.003
A 1.0 23 -

N Sl 93 0.68, 0.78
¥ A= 11992, D HIZ AR LA
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(A3 100g%)

0 = HIEtSt=Z El HIEIEIB BIEFRIB, LIOAL | BIEIRIB, | &4t | BIEEIC
(mg) (mg) (mg) (mg) (mg) (mg) (mg)
20 2.700 0.13 0.35 0110 0.21 88 |[41~103
J0tE= | 2,290~7,050 = 0.29~0.41 0.9 5 S BIESZ2==i 86
i = 1,200 0.04 0.14 0.5 i = 40
& F 1,000 0.07 0.08 0.4 0.20 34 15
E ¢ 5,535 0.13 0.34 1.5 0.19 163 63
¥ A&t 1992, = M2 A 1A
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HISOIEE

<g 0>

1990 &
2,138kg/10a

Al &

—/ O

00 4> 30

<H=0P>
Be s
= 3,147kg/10a
E AE Md=ES

<AAEOP
i 990
= 2,379kg/10a
L2 TS ey A
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Cl=d, Z=7|d[CH4d, 150g O|&H 50%)

E_l%z&jl% “I:Fl”, AI__I% “55”
T2 3,652kg/10a,

A AH

pm

=
S

Olor

M SN ChEtM ot

60~ 150 62%)8

=)
[—
H
o
chl t|:| 13 j|.u
=)
=

i
=
=2 2,549kg/10a, =& &

-|> o O &

=20k
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SHEE 1998 SHEE 2000 &
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A2 3,697kg/10a ZCH4 E5, 1302 0lA T X%
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11
H=MUHE - & Al
W)y AP
— x| : 38 ol=~48 ==, &HJ| : 58 Zol=, Bt : 68 A==
O =g
- EZXAH HIE X0 SHAE0| 250 EXSI|II SE NI RSE,
- 42, 83X % 01 ot=)| - HRA X 15~20cm, 01 & =0l 25~30cm.
- HIZE
3 A2 (kg/10a) Al 81 & (kg/10a)
= A 21tel & 51012l 2
A P05 M (N46%) | (P,0,20%) | (K,0 60%) R
JIEX 5.5 6.3 15.6 12.0 31.5 26.0 1,000
H2EX 9.0 9.0 24.0 19.6 45.0 40.0 1,500
% ElHl 428 : N0.5%, P,0,0.3%, K,00.5%
SE===
= J M uH X I & BHIl T bl
SZF 75cmx =2t 20cm SZF 75cmx =2t 25¢m
(10aZ 6,600~6,700)

(10aY 5,300~5,4002)

41/110




. oll

: .m.._... .A _|

.

<0

0k
oll

T

.

<0

0k
oll

T

-1

<0

42/110



)

g
KH

i

==
1o

ol &cqt

Ael 1

0F

S
g
|

oll

B
Kk

-t

ol

il
H

ol
&3

I0F

]

o0

ol

10

e oy

o{0

43/110



=

KO

ok

o
<F

Bl

=<
Kk

-l

KO

oK

o
<

. d== HAHotl =5

30
10
o
<+

U

i

==
1o

10k

nJ
oll

o
O

ol
aJ
5

)

B

10J
o
<}

Ol OlElN &4

SOl &

o

0
g
=

ol
o8

(FOE 4, 2I0|R0E4A, 20T, 82%)2

- OBl EO0l 5 D0t

J

o}

A0l ssH A

= o5t

(12~167C),

A
0l
KO

NADN

44/110



B A . ..

o e

45/110



2T &2 i E

HILNZII=E | HIEI b | L5 A T
= o z=e o e
MAD| | 4E MEx | 4@ e | 48 ax | oF o

MAYE (em) | 75%x15~25 | 756x15~25 | 60%15~25 KOMI525
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1,464

= 1500 1311 1,343 75
S 1,193 s
0 1000 | 571 56.9) L 150 H
- | | °3.5 49.8 <
e 47.6| 8 =

500 25

O | | | O
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70x20 | 1,464 56.9 631 2,140 833 sl Walao 1 1 (75610 b Imoteal > |k B
5.15 | 70x15 | 1,059 53.5 492 1,025 567 0,225 | 22085 | 6547 | 1,553.8 95
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70x20 | 1,193 42.3 688 1,615 505 1,730 | 1,9847 | 461.3 | 1,523.3 93
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